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PHYSICS kI
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1)  Match the following two columns. Celamlo A «
Column | Column 11 Nm kg X
olumn olumn s o
a) | Electrical resistance p) | ML3T-A-2 gL - ¥
b) [ Electrical potential q) ML?I"J%‘I Porngy X e %q
c) | Specific resistance r) | MLT-A- —2-1  qn'\p -\
d) | Specific conductance s) | None of these i
(A) a-—q.b-s,c~r.d-p 14 V= ke - 51_ = C
o m
- (B) a-p,b-gq,c .n'_u"-r!p '-ir*r-";-ﬂﬂ—l"'-
UC) a-g, b-r.c p.d-s M
(D) a-p,b-r, ¢ g, d -5 N e

2)  Angle of minimum deviation for a prism of refractive index 1.5 is equal to
the angle of prism of given prism. Then the angle of prism is
(sin48°36' = 0.75) ra -

(A) 41°24' (B) 60° L= (. o

o o400 o HJFE-E_
© 80 ® 82248 g Hn( 1)

" AanfF
3) A ray of light passes rom a medium A having refractive index 1.6 to lhcw( “2’)
medium B having refractive index 1.5. The value of critical angle of medium
A is

_ |§ =« ':b_ﬁ)

AA) sin”! = (B) sin”! 1 ( 2

15 2 hﬂl%)
(C) sin"'JIE (D) s’in*[(—IEJ i
15 16 —
g C
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4) The power of plane mirror is ;
(A) oo (B) 2D
) 0O (D) 4D

5) Lightwaves iavel from optically rarer medium to optically denser iy di

Its velocity decreases beeanse of change in 3

(A) frequency (B3) a-.m|-‘}liuu'lu.~ Vv
(C) wavelength (D) phase e | ‘

/

6) The Network shown in Figure s a part of the circmt, C1he attery i
negligible resistance)

At a certain instant the current =2 A and it is decreasing o e vide ul
102 As™'. What is the potential ditference between the points Bl A

(A) 80V TR
(<) g5V ) TR R

7y Arod of 10 cm length is moving perpendicular to o magEetic b il
lﬁfiﬂtt:ﬁﬁit}’ 5% 10‘4%1"[111, 11 the e cleration ol the rod 15 5 e th
rate of increase of induced em! 15

N 2.5 % 10" Vs Ry 200 % 107 Vs
(C) 25% 10+ Vs (D) 20%10% Vs
¢=LAE (Space for Rough Work)
- sf.cbﬂa (10%) i, TR O 3 \e,
_ -(2)(2) T\ 2 Y [—
= s¥1~h ‘ A~V

—\ +12 + 0.8
AS}){IU"L! E-:' "'Er . -
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8) A current of 3% Hz frequency is passing through an A.C. circuit having
series combination of R = 100 Q and L = 2 H, the phase difference between

voltage and currentis tanm § = QJL
(A) 90° (B) 30° R
© o WE s
9) In A.C. circuit having only capacitor, the current : } 5.‘6/__'
Lf
(A) lags behind the voltage by % in phase ’
(B) leads the voltage hy m in phase tan i j'
A
"fCT leads the voltagc by % in phase
(D) lags behind the x-n[ln;;by T in-p_]-'jase
10) An alternating voltage given as V =100v2sin100r volt is applied to a
capacitor of 1 pF. The current reading of the ammeter will be equal to
mA. Visa: = 100 o
A 10 (B) 40 o3 =HOTE
©) 20 D) 80 T-uUm = I0DS2
= 1 S
Z )
11) The distance of the closest approach of an alpha particle fired at a nucleus
with kinetic energy K is r,. The distance of the closest approach when the o
particle is fired at the same nucleus with kinetic energy 2K will be 16052
I Iy i
@ 3 ®) 7 K106
(C) 4r, (D) 2r,

C-1 (Space for Rough Work) | OB % /6D X (Ko €

O C = 1¥L0 ©x /o R 1 SR [ ool =
N L | GD X [0

K ::,"Iffﬁk /D

| &
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12) Number of spectral line in hydrogen atom 15 )
(A) 6 (13) 15 A
'F ]

(C) 8 (1)

13) A radioactive element X disintegrates successively as under

W SFCSNL WOS JAN (I, ) Ky
If atomic number and atomic mass number of X are respectiy ely 72 and I
180, what are the corresponding values for X,!
(A) 69,176 (B) 71,176
(C) 69,172 w2y 70, 172
14) The energy released by the fission ol one wranium atom is 200 MeVo The
number of fission per second required to produce 6.4 W power 18 ;
! r N o wlftw
(A) 10" (B) 10 5 2O Kb
(C) 210 (D) 2x 10"
15) If by successive disintegration of lJIE[_}?35, the final product obtained 1s
Ml’hzm‘. then how many number of o and B particles are cmitted?
o =% g = & el =
8and 6 (B) 12and 6
w (
(C) 6and 8 (D) 8and 12 ;
il Xa Ko 5 F
< &4 e e Xy & 2
(Space for Rough Work)
1'30 2 — oL
gx s I:}é Lt 140 +o =8V ;
e’ s = R
Nl Yl =Tw 12 =4 =74
18° 77 o
1% e +4y =&Y
e X'I'E'G :LD( e )
32 1 =3 >4 +4 e ® B
' [89=0 = (8D =49 -
Q= L5
+ 2 =% —| (¥ { X 2
s TN TR C I Sk S8
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W, -0 g il 0.04 — [Ixio2) R CG_-'E‘?J

20 10) A change of 0.04 V takes place between the base and the emitter when a

;ﬁ _ input signal is connected to the CE transistor amplifier. As a result , 20 pA
hl f’_, change take place in the base current and a change of 2 mA takes place in
L s the collector current. I'ind the input resistance and A.C. current gain.
2X10°
A T2 ) 2k, 100 (B) 2k, 200
' 20X10 —
’_D’f_ (C©) 1k, 100 (D) 1k€Q, 200
(> Ri v
o 17) A plane polarized light is incident normally on a tourmaline plate. Its E
vectors make an angle of 60° with the optic axis of the plate. Find the
percentage difference between initial and final intensities. €
(A) 25% (B) 75% 2
) 50% (D) 90% € _’__},,
\ 2.

18) Lightof wave length A is incident on slit of width d. The resulting diffraction
pattern is observed on a screen placed at distance D. The linear w1dth of
central maximum is cqual to width of the slit, then D =

d?
) e (B) % J_L
j
2 2 ="3h
© £y ; () =
e d s

._x_C’L_ =1 ' e =00

BJ’A, (Space for Rough Work) D

:EO[ r,’» r,L*;A A
# g ol
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19) Ina N-P-N transistor about 10'° electrons enter the ciintior i |
is connected to a battery. Then I_ =

(A) 200

B)
©
(D)

20)

(A)
AB)
©
(D)

800

t,:i}fl'l:)'_{"

HA

10°r1-& x0Tt

400
1600

9 x1o~-G

0. xlo~?

0 OO0,

=818 X0

1.6 S bE
0.16 =)
Mm=0EXLXo-
1.2 :
51 Gne = 31.4 £/0
: ¥ = JOX|0= 4
Al |

The effective length of a magnet is 31.4 cm and its pole strengtls o
The magnetic moment, if it is bent in the form of a senmcircle ¥

1)

Wil

21) Equal currents are passing through two very long and strangeht paralle b wie

in the same direction, They will i

LA
(1)
(C)

repel each other
lean towards each other

altract each oither

(D) neither attract nor repel each other

H

(Space for Rough Work)
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22) A volimeter of a very high resistance is joined in the circuit as shown in
figure. The voltage shown by this voltmeter will be

1 ]IUV
I
1 +1 = é
6 (2 -8/ 8 9/:_,
8 Q - Y
WWWW—— foecs L
e § 1o
3Q .
(A) 6V B 25V ,0 Tco
(C) 5V (D) 3V &

23) A galvanometer of resistance 50 Q is connected to a battery of 8 V along
with a resistance of 3950 € in series. A full scale deflection of 30 div is
obtained in the galvanometer. In order to reduce this deflection to 15 division,
the resistance in series should be 0

[F .al*Jm“ (A) 7900 (B) 2000
(C)y 1950 (D) 7950

24)  Ataplace on Earth, the vertical component of Earth’s magnetic field is /3
times its horizontal component. The angle of dip at this place is

(A) 30° (B) 45°
Ue) 60° (D) 0° %’
o o U
(n = q?t)_ (Space for I{fugh I;Vnrkhf . bs; By=Jo BH
€ =
= He Bv - -
R=29¢6° 0 vy EL" 3 "E'—'}Mé‘
$ =30 'lr'::" h i
2/ "
c;? Y\ : S/ - 12

(eh )
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25) Which gate can be obtained by shorting both the input terminals el MO

gate.
(A) OR (B) AND
() NOT ' (D) NAND

26) An optical fiber can offer a band width of
(A) 100 MHz (B) 750 MHz
(C) 100 GHz (D) 250 MHz

(3o

L

A R T

1 | | )
e W 3 I')

27) To transmita signal of 3 KHz frequency, the minimum lenpth ol antensis s

km § =2 XIo

(A) 20 _— (B) 50
. HE
(€} 25 {3 (D) 75

28) 27 identical drops of mercury are charged simultaneously with the same
potential of 10 Volt. Assuming the drop to be spherical, il all the clinged
drops are made to combine to form one large drop, then its ential will be

~ Vol |0=E¥X q - I0%
el W

UAT 90 2 4 KB 160
(C) 40 ““‘-g,'—;{'_([)) 10

29) When 10" electrons arc removed from a neutral metal
process, the charge on it becomes

(A) -1.6C B) 10”C

plite through some

e +1.6C (D) 107C
(Space for Rou h Work !
27 VAL el SR
u;k—q/ i I ]*"‘I ¥
7 (Ll xR’ =« -
37 J ‘_Z’/K [T
: = 9,
= = O+
(f@ /E‘E?C—J _JL&
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30) One moving electron when comes [closerito other stationary electron, then
its kinetic energy and potential energy respectively and ;

(A) increases, decreases (B) decreases, increases
(C) increases, increases (D) decreases, decreases

31) Aninclined plane of length 5.60 m making an angle of 45° with the horizontal [E;;\
is placed in an uniform electric field E = 100 Vm-'. A particle of mass 1 kg
and charge 10 C is allowed to slide down from rest position from maximum &
height of slope. If the co-efficient of friction is 0.1, the time taken by the M)
particle to reach the bottom is Cf/
M

(A) 1s  (B) 1415
) 2s (D) None of these
TR e
32) Charges 1 pc are placed at cach of the four corners of a square of side lﬂ
/?/ 242 m. The potential at the point of intersection of the diagonals is 1
(K =9 x 10" SI unit) A
(A) 18x10°V (B) 1800V V=kq
J 5
(C) 182 x10°V (D) None of these

33) A point charge q is situated at a distance r on axis from one end of a thin
conducting rod of lengih 1. having a charge Q[Uniformly distributed along
its length]. The magnitude of electric force between the two is

2KQ KQq
(A) rir+L) (B) r(r—L)
KQq KQq
© r? (D) r(r+L)
o= fes ﬂ/fl (Space for Rough Work)
(L)

k(X0 k(1) (10¢) \éi
x ~L 4
o 3,
CL@*)K% -
P
GUJCET-E-2015
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34) If alpha particle and deutron move with velocity v and 2y espec il the

ratio of their de - Broglie wave length will be ; \ o,
(A) 142 (B) 1:1 N
_ ) . . \J
<€ 2:1 (D) 2:1 ‘
l" [ .I' i

35) de - Broglic wave length of atom at TK absolute temperature will

A) h (B) J2mid '_
mKT h
I . 4
AC) W (D) J2mKT
]
Tﬁ\f = ) -‘ﬂlﬂ'ﬁ
inhkﬁ) If the wave length of light is 4000A°, then the number of waves i bnm
:r\]‘*’f A length will be
R 25, 79,(,1/ (A) 25 (B) 250
E%_"' (C) 2500 (D) 25000
37) The ft‘ﬂgUﬂnCi_ﬂ._‘:___r._‘a_fX rays, yrays and Ultra violet rays are respoctiy ely poig
2 and r then 2 q, eE B
M W p<aq>r . B) p<g:q<r
51 © poga>r Netl © p>aa<

38) Photons having encrgy 1eV and 2.5 eV successively incident o metal,
7—‘ having work function is 0.5 ¢V. The ratio of maximum speed of citted

electrons is N e ] eV = HE M '\”ﬂ“
w1 o el sl
_o$e LAl & : RN ..
X %fﬁ T -; (Space for Rough Wur'lf}m }, ) } .’4“
.\.w“"* Q! D =000 X107 Ja| "
9 o e
Ny " 4 wio 2 5
N7 d‘m —
O
Y o0 X /0
2 8 X103
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39) A and B are two points on a uniform ring of radius r. The resistance of the
ring is R. ZAOB = 0 as

shown in the figure. The equivalent resistance o
% between points A & BB is _ ) 12 g E.a - %(T
/

‘Q?. AR ""ﬂ':

A
n ¥ FhP; R (l?i‘-dl)
LM kil
S, & Ry Ry
F) i/
f-"e// A) ﬁ—e (B) R 1-i ij.? :
- ¢ 2n I . %
Ve R(2n—0 R,
"N O ’2// (C) __(i__} " (D) ___{2“ 0)0 2:n b
- 'f"
= (2 o ?“R (J-?T 6 )n. @) P7'
T RVITS f& Two wires of equal length and equal dlameter and havm s;stwme:s p -"—ﬂ -8
2 f\' = ;- and p, are connected in scries, The equivalent resistivity of ﬂlecombmatmanG/K
j'f"! o f-f.k“_t‘ ]l"?) "‘"-:I:]---_c":___‘.__.
- Ny PP, g, =
(A) (p, +py) ®) 3 ;P ( Z
" P,
pe %28 R = OR) Azg
£ 0= O e 12
K. (%) "ﬁR ‘—‘8& | .L

2N

NG e R 2x +  2EY 3§

A ROR = © R re (2n—-0He R
ﬁ-f £ ﬂ\qé:‘:{_g, \ (Space for Rough Work) R!‘:- .g : jr_/ﬁ

ﬁ‘-—-—@ P\z:gzﬁ-/}&f
SEEEECS A
A %
20
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CHEMISTRY

41) Reaction 3C10" — CIO; + 2Cl" occurs in following, two steps

(i) « ClO"+ CIO —X5 CIO; + CI (Slow step)

(i) CIO,+ ClIO" —=— ClO,+ CI” (Fast step)
then the rate of given reaction =

S K [CIOF B) K,[CIO, 110 |
(C) K,[CIO ] (D) K,[ClO |’

42) Atgiven temperature and pressure adsorption of which gas of the following,

will take place the most?
(A) Dihydrogen . JB) Ammonia
(C) Dioxygen (D) Dinitrogen

43) Which type of colloid is the dissolution of sulphur (5,)?

(A) Associated colloid (B) Multimolecular collowd

(C) Micelle (D) Macromolecular colloud

44) For Adsorption phenomenon,

(A) AH=+ve, AS =-ve v (B). AH=-ve, AS = ~ve
(C) AH=-ve, AS =+ve (D) AH =+ve, AS = +ve
(Space for Rough Work)
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45) Which of the following statement is incorrect for KMnO,?
(A) Itisanoxidisimg apent. v
(B) Itisused as bleaching avent in textile industries, ~
(C) Itisused as antiseptic, v

(D) Itis dark purple .nhmml':urmrphﬂgs:'substance.
—

46)  Which of the follow g 1on hias the maximum theoretical magnetic moment?

MA) Feap Ly (B) Ti* 2 =9

© C* oy . D) Co%3 .
: = 111

47) Which of the following oxide has theﬁlaximum basicity?’

(A) La0, (B) Sm,0,
(€) Pr,0, D) Gd,0,

48) Which of the following spectrochemical series is true?
(A) SCN"<NH,<I' <en<CO
(B) SCN™<F «en« NI, <CO
(C) SCN <F < NI, <en<CO
(D) SCN <F <en<CO< NH,

(Space for Rough Work)
L0 T e no=g
7T O, b oy ==
Crdd ) E‘l G T.FB
mll h.D E (o- e = ‘u‘
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49) Which of the following complex is ‘E_aramagnatic?
(A) [Ni(CO)J (B) [Ni(CN),I
(©) [Co(NH,),J* ¥P) [NiCLJ

50) Both [Ni(CO),]and [Ni(CN),]*- are diamagnetic. The types ol hybodisation

of Ni in these complexces are & respechively
(A) sp’,sp’ (B) dsp? sp'
) sp, dsp” (D) dsp?, dsp’

51) Which of the following order of aﬂgﬁ:rjj_tengﬂl_j_sfl 10l correcty
(A) Cl,-C-COOH > CL,-CH-COOH > CI-CH,-COOT
(B) H-COOH >CH,COOH >CHCOOH
L) CHI'CHE-CH,CODH }CHE-CH-CHE-CD(]II >CHCH L CHLCOL )H

1 | l
cl Cl Cl
(D) CH,COOH > CHCH,COOH > (CH,),CH-COOH

52) What is the formula of Acrolein?
(A) CH,=CH-CHO
(@) CH,=CH COOH 2 9 | el X
(C) CH,=CH-CN D? ‘ ,?3
(D) CH,=CH-CONH,

4] )
TTml—ul_T\%_T] m (Space for Ruu?Wﬂrk) i,
| <) }

P ((N)g
u ﬂ\”kl =) '+1=-':i_. D
j_’:g. @ L;j” I T_JIJ [’U] l:_j
M ( Cﬂqﬁj [ Lqu;ad ) .
“ S P
. Gujc
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53) What is IUPAC name for isophthalic acid? I
(A) Benzene - 1, 3 dicarboxylic acid
(B) Benzene - 1, 4 dicarboxylic acid
(C) Benzene - 1. 2 dicarboxylic acid

(D) Benzene - I. 5 dicarboxylic acid

54) What is the name lor red azo dye?
(A) p-hydroxy azo benzene
(B) p-amino azo benzene
(C) P - napthyl azo benzene

(D) p- N, Ndimethyl amino azo benzene

55) Which of the followiny is not formed by Sandmayer reaction?
(A) CHLCI (B) CHBr
«+€) CH.,I (D) CH.CN

56) For which vitamin liver 1s not the source?
(A) Vitamin - B, (B) Vitamin - B,

(C) Vitamin - B, (D) Vitamin-H

(Space for Rough Work)

GUJCET-E-2015
BOOKLET 1) [21] (P.T.0.)



57) In which of the following compound, all the monosaccharide nmis are nol
joined byE 0- Cdshain.

(A) Maltose (B) Cellulose

(C) Lactose (D) Amylopectin

58) Which of the following polymer is formed by cationic addition
polymerisation reaction?

(A) Butyl rubber (B) Teflon

(C) Poly styrene (D) PVC
59) Which of the following polymer is used in pigment”
(A) Buna-S (B) Teflon

(C) Neoprene (D) Orlon

60) To prevent food from spoilage by microorganism, which substance is used?

(A) Aspartame i ~AB) Salt of sorbic acud
(C) Arneto o (D) Tetrazine 4
(Space for Rough Work) K
GUJCET-E-2015 ' . GU
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61) Which of the following defect is seen in FeO?
(A) Metal excess defect
vB) Displacement defect
(C) Metal deficiency defect
(D) Impurity defect

62) Which of the followin # substance possess antiferromagnetic property?

(A) Fe,0, (B) H,0
(©) Cro, (D) MnO

63) The boiling points for dqueous solutions of sucrose and urea are same at
constant temperature, If 3 gm of urea is dissolved in its 1 litre solution,
what is the weight of sucrose dissolved in its 1 litre solution? ‘
[Urea - 60 gm/mole, sucrose = 342 gm/mole]

(A) 3.0 gram (B) 6.0 gram
(C) 17.1 gram (D) 34.2 gram

64) Which option is i.!],‘f.””"‘i"‘“m.t for Raoult’s law?
(A) Volume of liquid solvent + volume of liquid solute = volume of
solution.
(B) Solute does not i lergo association in solution
(C) The change in heat of dilution for solution = 0

(D) Solute undergoes dissociation in solution

(Space for Rough Work)

B4 L
D /b0
= & / % YL

9
60
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65) Which colligative property is more useful to deterniine 1i|r:mn|n'n|:u n'ui;_’,|_!lp
of the substances like proteins and polymers?

(A) Lowering of vnpdur pressure
(B) Depression of freezing point
(C) Elevation in boiling point

(D) Osmotic pressure

66) The resulting solution obtained at the ﬂnddpf_cluvtr:nl;.--. Ll concentrated
aqueous solution of NaCl _ ; rl |J] n\n_ .

PRITRMR

JA) tuns red litmus into blue h
At "

(B) remains colourless with phenolphthalein !

(C) turns blue litmus into red

(D) the colour of red or blue litmus does not change

67) The value of E?  for metal A, B and C are 0.34 Volt, 080 Voltand -0.46
Volt respectively. State the correct order for their ability 10 act i reducing

agent.
(A) C>B>A B B>C A
(C) A>B>C (D) C>A>B

68) Two electrolytic cells containing molten solutions ol Nickel chloride &
Aluminium chloride are connected in series. If same amount of elecuie corrent
is passed through them, what will be the weight of Nickel obtimed when
18 gm of Aluminium is obtained? (Al - 27 gm/mole, Ni - 58,5 pi/miole ')

(A) 585gm 13 (B) 29.25 ng?.,.-
(C) 117 gm (D) 5.85gm
(Space for Rough Work)
CencC . Y, Na L Aoy 0 39 B<C <A
p— — O %4
0 H T c = -0-4b

el

¥5 -11736 35 ST Un—__

?L..
=¥ e S
T:h 2 il L
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69)  Which method is used to get very purnfgcrmamum(used in semiconductor?

g

(A electrolysis

{(B) hquuton
(C)  vapown - phase relimng
(D) zome «rclunng \’A

70)  Which product will he abtamed i the following reaction?

Reaction : P+ ANaOH, 4 311,0,, —

(A) PH, 1 iNa HPPO (B) 2PH; +3Na,HPO,

(¢) PH, +3Nall 'O (D) 2PH, +3NaH,PO,
71) The molecular formulac lor phosgene and tear gas are and

respectively.

(A) SOCI, and CCLNO B) COCL, and CCLNO,

(C) COCL, and CC1 MO, (D) SOCI, and CCLNO,

72) Which of the [ollowiny imisture is called Aquaregia?

(A) Two parts of cone HCTand two parts of conc. HNO,
% By~ Three parts of conc HCTand 1 part of dil. HNO,

(C) Three parts of (il HCTand 1 part of conc. HNO,

(D) Three parts of cope HCTand 1 part of cone. HNO,
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73) Which of the following is allylic halide?

2

?45

75)

 —— —

(A) Benzyl chloride e

(B) 1 -bromo benzene @ ur;liP,j..-

(C) (1 - bromo ethyl) benzene U

(D) 3 -chloro cyclo hex-1-ene m
{5 P

50% of the reagent is used for dehydrohalogenation of (.-15 g 'l CH.CL
What will be the weight of the main product obtained”

[At. mass of H, C and Cl are 1, 12 & 35.5 gm/mole ' respectively]
(A) 0.7 gm (B) 2.8 gm
(C) 1.4 gm (D) 5.6 gm

Name the following reaction CH,CH,CI + Nal __axwne  (*[| ('[] | NaC'l

(A) Swartz reaction
“(B) Wurtz reaction

@\ Frinkel-stein reaction

76)

(D) Hell-Volhard Zelinsky reaction

Which reagent is used for bromination of methyl phenyl etlier?
(A) Br,/RedP

(B) Br,/FeBr,

(C) Br,/CH,COOH

(D) HBr/ A

(Space for Rough Work)
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77)  Which of the followinyg acid does not have ~=COOH group?

(A) Ethanoic acid + (B) Benzoic acid
(C) Picric acid v (D) Salicylic acid

78)  Which of the follow g statement is not correct?

(A) Phenol is used 1o prepare analgesic drugs
(3) Solubility of phenol in water is more than that of chlorobenzene

(C)  Phenol is ncutralised by sodium carbonate ‘\FO\’)C&E‘

) Boiling point of o Ililm{:ht'tllﬂ is lower than that of p-nitrophenol D(Tﬂﬂ)
" I'
)
79) ‘Total order of reaction X + Y — XY i§ 3) The order of reaction with
respect to X is 2. State the differential rate equation for the reaction.
! - » e —

w ~Poguiyy e k)
(©) ~"’E{]=KIXFI\"I' D --‘%ﬂ[x][ﬂz

80) XSl yy. Sarl .7 isa complex reaction. Total order of reaction is
@and Step - 1T is slow step, What is molecularity of Step-11?
(A) 1 (B) 3
U 2 (D) 4

(Space for Rough Work)
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BIOLOGY

81) Which one is not cranial bone?

(A) Frontal (B) Temporal
(C) Zygomcetic GD)  Sphenoid
82) 4H*
4 HO

2 ——
4 OH"

[n this process which of the following play important role?
(A) Chlorophyll (B) Light energy
ey Cat Min s, G (D) All of the above

83) Which of the following is correct trend of succession in Hydroseric
succession?

&) Phytoplankton — Rooted submerged > Reed swamp — Sedge
medow

(B) Phytoplankton — Sedge medow — Reed swamp — Root
submerged

(C) Phytoplankton — Reed swamp — Rooted submerged — Sedge
medow

(D) Rooted submerged — Phytoplankton — Reed swamp — Sedge
medow
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84) On which surface of cell Donnan t't[uilih]'iun: occur?
(A) Cell wall (13) Plasma membrane

(") Tonoplast (D) Nuclear membrane

85)  Which type of gene regulate s determination in Spinach plant?

(A1 Homozygous genes (B) Single gene
(€") Heterozygous genes (D) Multiple genes

86)  When the respiratory substances are more than one then which respiratory
subetrates are not used”

[A) Pure Protein (B) Lipid
(C') Carbohydrate (D) (A)and (B) both

87)  State the condition of muscle contraction in following diagram.

e gEs e
gescasmenaEs

(A) Resting potential (B) Contraction
(CC)  Maximally contracted (D) None
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88) How many years are considered in one minute in Gicological clock?
—
(A) 52000 years {B)  3,25.000 years

(C) 1,87,500,000 years (D) 1,90,000 years

89) Which structure is formed at the time of exchange ol pgamete nuclei in given

animal during sexual reproduction.

(A) Plasmodesmata wA3)  Internal tubule

(C) Cytoplasmic filaments (D) Cytoplasmie bridge

90) Name the plant shows adventive embryonic cells.

(A) Sunflower and Mango (B)- Lemon and Muize

(C) Citrus and Mango (D) Lemon and Palms
- (Space for Rough Work)
GUJCET-E-2015

BOOKLET [34]



i U RITTR T L rr.u:piratinn_

v AT 2 PGAL during glycolysis and none of the PGAL produced in Kreb’s
t'_‘».-'L‘h:
(1 2 PGAL during plveolyais and 2 Pyruvic acid are produced in Kreb’s
cyele '
(1 P PGAL during glveoly s and 4 Pyruvic acid are produced in Kreb’s

cyele

W] () PGALis not produced during respiratory events

921 Whichvol the following function is performed by collecting tubule of kidney?

A1 I the maintenance of plland ionic balance of blood by the secretion
ol H" and K* ions 0

(i) Maintenance of pll of blood and removal of Na* and K* ions

() Absorption of glucose and ammonia from the blood

(11 None of above

“11 A Nerve fibre can become excited through touch, smell, pressure and
vhemical changes and there is a change in polarity.

It - 1t 1s called active potential,
\(A) A and R both are conect and A is correct explanation of R.
(3) A is correct and R 15 wrong |
() A and R both are correct but A s not correct explanation of R,

(1) Aas wrong ang R is correct

(Space for Rough Work)
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94) Select proper option, by matching column I, IT and I11.

Column I Column II Column 11

(Common Name) (Roman Numerical (Activation product)
Designation)

P) Prothrombin x) 1 i) Convertin

Q) Proconvertin y) V i) Fibrin

R) Fibrinogen z) 1 11) Thrombin

S) Proaccelerin - w) VII iv) Accelerin

\fﬁ.] (P-z-iii) (Q-w-i) (R-y-ii) (S-x-iv)
A(B) (P-z-ii)) (Q-w-ii) R-x-iv) (S-y-i)
K(©C) (P-w-ii) (Q-z-iii) (R-y-iv) (S-x-1)

(D) (P-z-iii) (Q-w-i) R-x-ii) (S-y-iv)
> O s

95) What is “A” and “B” in given diagram?
(A) A= RNA Primer
B = RNA Helicase
(B) A= Single strand Binding Protein
B = DNA Helicase
(C) A= RNA Primer
B = DNA Helicase

/C (D) A= Lagging strand

B = Movement of Helicase

(Space for Rough Work)
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Vi)

In which Lield application of biotechnology oceurs?

(A Bio-medicine
(1) Agriculture

() LEnvironmental Deld

J121 0 Al of the above

97) shows anti-allergic and anti-inflammatory effect.
(A} Mineralocorticonds
(13)  Sexcorticoids
() Gilucocorticonds
(1)) Noradrenaline
98)  During the process ol decomposition in which stage complex organic matter
convert into inorganic 1ons and salts by fungi?
(A) Mineralization (B) Catabolism
(') Fragmentation (D) All of the above
99) How much amount of volume of air is in lungs FRC?
(A) 1500 ml to 1600 ml (B) 2500 ml to 3000 ml
B (C) 2100 ml to 2500 ml (D) 1600 ml to 2100 ml
(S pace for Rough Work)
C SV
{Q* gL
/60 T/ Fg
GUJCET-E-2015
BOOKLET 1D 137] (P.T.0.)



100) What indicated “A” in given figure?

8 8
i
T(l;“"

s YIS

£A) Peptide bond (B)
(C) Glycocidic bond

Disulfide bon

(D) Hydrophobic bond

101) What is total diastolic time of ventricle in cardiac cycle?
(A) 0.30 second (B) 0.50 second
(C) 0.40 second (D) 0.10 second

102) Which amino acid determines by four genetic codes?

(A) Leucine (Leu) )0 (B) Serine (Ser)

(C) Proline (Pro) (D) Tyrosine (Tyr)

'{Space for Rough Work)
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14 Wihieh s the inhibitory hormone of {_i.li?
(A1 Insulin
vl Somatostatin
(' Parathormone
(I Testosterone
¥
1) Complete and balanced the following reaction.
N IPO, + __ X Y __+ NaH,PO,
A1 N =NaHCO,, Y = NaCl
(1 X=NaHCO, Y =H,CO, Na-H
() X =H,CO,, Y = NaH,CO,
(X =H,CO,, Y = NaHCO,

1051 How many molecules of ATP and NADPH are require in formation of two
muolecules of glucose? How many Calvin cycles are required?

(A) 36 ATP, 24 NADPIH, 12 Calvin cycles ')0
(13) 36 ATP, 24 NADPH, 6 Calvin cycles
() 18 ATP, 12 NADPH, 6 Calvin cycles

(12) 24 ATP, 36 NADPH, 12 Calvin cycles L{p :

‘ (Space for Rough Work)
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106) A -

R-

(A)
(B)
L)
(D)

The DNA fingerprint is the same for every cell, tissue and vrgan of a
b I T
person.

DNA fingerprint is used for treatment of inherited disorders like
Huntigton’s disease, Alzheimer’s and Sickle cell .muma

A and R both are correct. R is explanation of A

A is correct and R is wrong
®
A and R both are correct but R is not explanation ol A

A is wrong and R is correct

107) Which part is not included in Coehlear duct?

(A)
JO)

Reissner's membrane (B) Scala Mcdia

Macula of Utricle (D) Tectorial membrane

108) Which is Gynandromorph type of animal?

(A)
©

Drossophilla (B3) Beetles
Silk worms (D) All of the above

109) DNA polymerase enzyme is isolated from which bacteria”

(A) E.Coli (B) Bacillus thruncgenesis
¢C) Thermus aquaticus (D) Agro bacterium
(Space for Rough Work)

GUJCET-E-2015

BOOKLET

[40]



P Aheh the column I and 1
ol | {olimn 11 Column 111

tochomoniasis 0 Herpes Simplex x) Pain in lower abdomen

(11 Syphilis ) Newssernn y) Inflammation and
ronorhoeae itching in and around
vagina
101 Cwonorrhoea i reponems z) Patchy hair loss

Fallil i

W0 Gienital herpes v Trichomonas w) Feeling of uncasiness
Viganalis

't 1|’-i\f-}'}{{_) = 2111 II'RJ[S-i'WJ
)‘Hf.lr (P-iv-x)(Q -1 wi(KR-1-y)(S-iii-z)
l'i": ) (P-1v-y)(Q-1- 20 (R -1i - x) (S - 1ii - w)

fj.llu (P-1-2)(Q-ii  v){R-iv-w) (S -iii - x)

PR Whatis the height and weight of twelve weeks old human embryo?
(AL 75 em, 650 gram (B) 42cm, 1800 gram

W 7.5cm, 14 gram «/(D} 32 em, 650 gram 12

(Space for Rough Work)
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112) Assertion A : Restriction endonuclease recognize short palindromic sequence
and cut at specific sites.

Reason - R : When a restriction endonuclease acts on Pal indrome, it cleaves
both the strands of DNA '‘molecule.

(A) A andR are both correct. R is explanation of A
(B) Ais correct and R is wrong
¥C) A and R are both correct but R is not explanation of A

(D) A is wrong and R is correct

113) Write proper option by matching column I, II and 111,

Column I Column II Column 111
(Name) (Enzyme) (l‘'unction)
i)  Gastric Juice P) Chymo- A) Dipeptide convert into
trypsinogen amino acid
i) Intestinal Juice Q) Ptylin B) Proteoses convert into
' small polypeptides
iii) Saliva R) Renin (') Casein convert into
; paracasein
iv)  Pancreatic juice  S) Erepsin 1)) Conversion of starch

into maltose

(A) (i-R-C)(ii-S- A)(iii- Q- B) (iv-P- D)
(B) (i-S-D)(ii-R-C)(iii-P-B)(iv-Q- A)\J

(€) (i-R-C)(ii-S-A)(ii- Q-D) (iv-P-B) \_~
(D) (i-Q-A)(i-P-C)iii-R-B)(iv-S-D) \p

(Space for Rough Work)
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LEE \Wote the correct Sequenee urf-.-m-m- lii\’E!_‘!-:E-"ﬂ "
WA Ringdom — Population Species — Genes —» {'Ill‘:}liluxmllt'\f'_‘? |
» Nucleotides

Hi) Hpn'u}ﬂ.‘i—} Genes .l'njnul.:lrnn 2 Chmmosnmcs b Niln'l;'nlfdes 3
W Population — Species - Clnomosomes — Genes - » Nucleotides

(e Kigdom — Species + Chromosomes — Genes —» Nucleotides

FES) ATtcthe column Tand 1 and select the correct option.

Cudinn | C olumn 11 (concentration of DDT in [ppm)
v Jooto Plankton I 0.003 Ppm

Iy Siall fishes O Tppm

L Water )25 ppm

I+ Tish cating birds 5 004 ppm

11 g lishes 1 0.5 ppm

B G I I
T P R 0
£} I T R Q Py
g P Q Ry
P S i Ry
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116) Which of the following disease shows the blockage of kidney tubules and
causes severe back pain?

(A) Renal calculi
(B) Uremia

(C) Kidney failure
(D) Nephritis

117) During photorespiration which compounds are formed having 2C and 3C
respectively in Peroxisome? m;; C P i
(A) Glycolate, Glycine yo
(B) Serine, (filycine Y
#C) Glycine, Glycerate
X (D) Phosphoglycerate, Glycolate

118) During rainy season wooden doors and windows are not properly closed.
Why?

(A) Plasmolysis
(B) Osmosis
(C) Diffusion
€D) Imbibition

(Space for Rough Work)
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LU NEaeh the column 1, H o 1

Column I Colummn [] Column HI
V1 Sickle Cell 1 Duetoaecessive  P) Arcanecment of
Anaemia 'Y penes Valine wi place of
Glutamie acid
v

I1 Phenyl Ketonuri: 1y e 1o absence Q) Inborn crror of
ol homogentisic metibolism
edive enzyme

I 1 Alkaptonuria i Follows Mendelian R) Urine trns black
e iples when ¢xposed to arr

I Thalassaemia U haracters caused  S) The requnred
I homozygous hacmaoglobin is not
ICCESSIVE genes gencraled i the

blood

A) (A-Ti-8) B =it a1 Q) (D-iv-P) ¥
(B (A-iv-P)(B-1ii By, S)D-ii-R)X
ME) (A-iv-P)B-i Q) .i)ﬂ{D-§L4ﬁqpf”
(D) (A-ii -R)(B-i- Q) (€ iv-P)(D-ii-S)

140 Which of the followiny is the «vmptom of Ulcerative colitis?
(\) Watery stou_l._ﬁ contiinmg bood and mucus
(13)  Loss of appetitc
() Difficul_l}-' in swallow g o
(1)) Eyes turn yellow !

(Space for Rough Work)
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